A £ 0l & AF & S

20258 =0ilah LEHSIH MIZ

Al A

SA MEL
Hu: 5EN0 Mazo U AIHE 2
Gl XSOl OHEE aE (SHol: )
2 - IE
SA - B - SA(SH) - MRA - BAS ol &t e HIDS
NIE 1,222,531 1,208,700 13,831
= 189,139
== 20,000
Al 1,013,392
SEHO AE2el & MZIME 2 864,019 870,378 26,359
= 169,139
Al 694,880
KZA==2 8N &E 708,530 728,116 19,586
= 169,139
Al 539,391
KA S0 == 455,2%6 482,460 N2T7,164
201 et 3| 373,225 408,610 A\35,385
01 AtR2tc|bI 140,527 160,009 A19,482
Ogit=2H| 126,159
— XA 23 BA WA
4,000 3002 1,200
—IBt2 LHS(2HHR) HUIA 0182
25 == 187&%218,00021 40,766
—RSEMA AISW MH
200,000 20 4,000
—XIgH 27 TA P
150,000& 10 1,500
— KAl Uz 2ENE HH
1,000,000& %12 1,000
—TIYH LS Hz 242
1123 454,500 5,000
—FSH, SSHAM 2XA H=
802 +40,0000HK 3,200
—SEHOAMN SEE QXM HMH
80212, 5000K 1,000
—NSTHAl S8 OXA HME
803 %95,0000H*22] 15,200
—XNZA LN 258 FSF X
5020, 0000HK 1,000
—AUSIHA E2 =2 M
66,0002 3201 =23 4,224
—NSTHA 282 2HE HIE
20,0002 *13JH*22] 520
—MHAA(A=2) SSIXAM HZ
802 +20,0000HK 1,600
—THAAI (=) SEIXM M
802 *100,0000H 8,000
—THAHAI(ERX]) SEOXIA ME
80&+75,0000HK 6,000
—THAHN| HEES B0t R
66,0003 3201 *23] 4,224




2A:

Mm: BEN0 METR L NRIHE 29
CHol: XI Aol OIEE 2E (Hol: &)
. SIE]
SA - B - S2A(SH) - ARAE - B ol &t e HIDS
—MaAl RS2 g2t MA
20,0002 *137H*23] 520
—FUMOHE AIEAR) SE XA A
= 802 *114,6120H 9,169
—FUNMOHAE ANHAE) B2 S22 Tl
= 66,0002 +320H 2,112
—dJ|2 SSHGAM(H5]) 88 &=+
= 66,0002 *320H 2,112
—FAE AOE SEIXNN M
50,0002 x302f A 1,500
— XM S2SXA SX M=
54,0003 302 A 1,620
—XNZAl etE SESX M
50,0003 302t A 1,500
—HISEEA0IE 0122
600,000 %12 600
—KLASAH A2 DKM HIZ
54,0003 »202 A 1,080
~NYLSH ERE e M
66,0002 *320H 2,112
—KYLSH HREE cIEA HH
50&+20,0000HK 1,000
~XBASH HROA 2aR HES R
= 50& *20,0000H 1,000
—XNZLSAH Ot ZAF JI=
4,0002 x2002 800
—SNS NE3E 2= M=
300,000 *23] 600
— XA dENS WY S2S ME
2,000 *1,0000H 2,000
osgsg 4,000
—XIHl AolSiHEl g
100,000 x10H *43] 4,000
O=Z Al 10,368
—XIYHY SHERl S234|
9,000 x4 4123 1,728
-SSR FNXE U S2=44l
9,0003 8 x4 L« 12 3,456
—XHAEAL EAIRE Bl S2=4l
9,000+ x4« 123 2,160
—HNSZAL & F2A S WMA=3H S
a4l 9,000 x3 4L« 12 1,29
—NLLSA U S2=4I
9,0003 x4 *4 L« 12 1,728
02 S3=gHl 232,698 248,601 A15,908
OsE2= & HA 230,898
—HNZER =& DIAN L& 2= 5,006
= 2,530& %2008 506




SA MBI
B 52X0 AV L MANE 2
R XA HEH &E (Cte: M
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Skl 4502 +10,000S 4,500
~TISAN o L |2 DIN ¥ 2
U= 46,240
=y 2,5302+2,0005 5,060
-t 4502 +91,5108 41,180
—MetAl D12 DXIA 285 RE2 108,258
= 2,530%%12,0008 30,360
el 4502 %173, 1068 77,898
—FUMONZ AMHAR) XM 28 2
= 48,401
Skl 4502 *107,557S 48,401
—=AZ2 DAA 25 282 9,815
=M 2,530 +500= 1,265
2t 45021%19,0005 8,550
~DXAM U HE
2,100&+2,9008 6,090
—XIYH EROE s 2B
45032005+ 122 1,080
~XYASH L2 SN 2 SBE
4502 +5,5005 2,475
—NLASH 2SMHSED HEM 25 2
ag=d 45031%3,000H 1,350
—H2X MHIA S4AIER
87,0002 122 1,044
— NN SR 2E43ke S ¥
= 2,530 *4505 1,139
ONZHRFN e 29 1,800
— NS XA 200,000 *1CH 200
—=&U 100,000 x1CH* 12 1,200
—&HI=AH & ~23H|
400,000 1CH 400
202 04l 13,320 13,320
01 2LHoIH 13,320 13,320
Ol MSEAL & DHAIXtE A
60,0003 x2Z 22 +23] 480
OXNZHME 2HoF IHEES| A
60,0002 x3& 2 360
OXIZAl =& &4 60,0003 x4 & +2& 480
OXIgA 24 &5 87
60,0003 x2 120
OESURA AHETIE dMYd g5 87
60,0003 2 120
OXIAl & & QIAtAS -
60,0002 x2E *x2 2 *43] 960
OXIZAl Hi==F3 J18He A9E &A
60,0003 x2»2H 240




2 ™D

33 S8He M2 & AZNE 2E
Ol MAIAOl OFEE BHE (Shol: % 2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OXIZAl DXIA M= 2=
60,0003 x2& +53] 600
OXIgAl &o?IBs HA
60,0002 x2& +23] 240
Ofetar XA 22 Hxtg &4
60,0003 »7 & +4 1,680
OF2 TN L2 oias] 24
60,0003 x6 & »2 720
Odctdr MEHAEs A &4
60,0002 %15 900
OXIZAl HAAAE AHEX WS FA
60,0003 x2& »23] 240
OXNEAl HME=He EE2 B4
60,0002 x4 240
OXIgAl H=E 820t SEIHE Ws 4
60,0002 6% 360
ORO0Pl= XA HRus FHA
60,0003 2 120
OXg MSEAL H2 LT A
60,0003 »2&»2 240
OAgE SEE N us F4
60,0002 x2&H 120
OXZAME 2= AIZ dIX|0H
60,0002 x4 240
OXIZAl M===H 2208 us A
60,0002 14! 60
OXIZAl WAIXtZE A
60,0002 x4 *22x 102 4,800
203 =] 1,000 1,000
03 A=A =] 1,000 1,000
OXZMEE R =& 1,000,000 14| 1,000
301 LEtE NS 13,300 10,300 3,000
14 IIEt2 83 13,300 10,300 3,000
OXNEA SN Ea=
20,0003 *450H 9,000
OXZAH HENS e BAI-E
130,000& * 102 1,300
OXZA XX &l JHEA OIHE &0
243 1,500,000& 22 3,000
303 Za= 4,280 4,280
01 Za= 4,280 4,280
OME &= 2= 30,000,000 *5% 1,500
OMISEA €2 SUMa 22 T3
55,600,000 *5% 2,780
306 EH= 21,891 22,470 VANSY(®
01 9= 21,891 22,470 VANSY(®




2 ™D

B 52X0 AV L MANE 2
=Rl XYM=2 8N 2F (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OFZNYHARH &3
21,891,000& 18] 21,891
308 AHXIEMSOIE 13,200 13,200
18 SIS0t AS A 13,200 13,200
OXNSIHA HAZ0H EFHL &5 M
3,300,000& *23] 6,600
OMAAl HE0HHM &Rt &S M=
3,300,000& *22 6,600
405 AHatE = 15,080 9,280 5,800
01 ML ESFSHI 15,080 9,280 5,800
OXNAl XN 2E= S8 2L
15,080,000 17K 15,080
NS ERDEA AL 253,234 245,656 7,578
= 169,139
Al 84,095
201 2= 247,474 239,8% 7,578
= 169,139
Al 78,335
01 At2telt] 247,474 239,8% 7,578
ER=lest Sl 240,634
—1E12J|E WEFRIIA HE+=2 224,582
cHEFEIHA BErE
6,800&x33,000= 224,400
= 169,139
Al 55,261
JIANE AESAE
8,370&+56& 42
Oleily AS+a5
27,9003 #5655 140
—6312J|= HEFEYIA S+ 5,969
HEFEIS dS++=2
8,370&x700= 5,859
SIANE d&5++8
8,370&+3< 26
Ol2dlE HAEr=+=2
27,9003 +3= 84
—0IZA BEFIIAZAN G2 44
=2 (CHAICH, &1”) 90,0002 1S 0
—DIZAl 2EFLIIAIAN TE AE2
+2(0HIE) 122,30021+65 612
—HEFEIAIMRE AIRES 78
287,0002 23] 574
—IHEFEDIA ZAIEY EEE HE 3,960
S5 66,0003 x24 04 +23] 3,168
- B 16,5003 x24 01 »23] 792
—UEE At HEH EEE HE 1,980




2A:

AIE

M 280 ME22 & MIAME 2S
chel: XAl OHEE aE (ol m2)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
- S0 66,0002 x24H*12] 1,584
- B 16,5002 <244 +12] 3%
—SWORIE £ 2 S 79
255,000 *2CH*13] 510
—SIXZA ARUE E50 HE ZHEH
2 =2t g 424,00024%1CH+13] 424
—=2AD| EH 72
378,400 *1CH*12] 379
—=AD| S8 7Y
594,000& *1CH*12] 54
—RESMIEASAIREE MAXE M
20,0002 %102 23] 400
NEFUSHEIAE B0 G2 B P
& 28,0002 202 A 560
ORg4+Y 3,600
—&EA PSUIATAARE BEL
100,000 6 & *32 1,800
~RISA AR EALL
100, 00024 %9 % 25| 1,800
o2zl 3,240
SHEFSTA HREY BE S22
] 9,000 3 ~10* 122 3,240
202 04| 5,760 5,760
01 =LHA I 5,760 5,760
@]:] 20,0002 6 x4 x 122 5,760
ANLNE 8235 =8 155,489 142,262 13,227
NEAE datd FXl2el 155,489 142,262 13,227
201 L= 20,701 50,377 N29,676
01 AF2-2t2ltl 1,508 2,250 ANTA2
==l 1,508
—NISEEAAE HAZZ 2 A0H(V3)
500,000&*385+x=E=+==+2 8,000& 1,508
02 3224l 19,193 48,127 28,934
OAZZ IS X 19,193
— XA S22 XFAAE S 244]
968,000& 1204 = 11,616
—HNISRHAEHl HOHH2l FAE2==t]
647,000 %12 647
—2ES ¢ HEINALIA R
1,732,500 *4=2 0| 6,930
308 AHXIEMSOIE 134,788 91,885 42,903
18 S 2SS & AEAIE 134,788 91,885 42,903
OBEXLMEZAALY SXIZS2=H|(XHAICH)
134,788,000& %13 134,788
A 2HAHI(MED) 358,512 338,322 20,190
= 20,000




2 ™D

M HZYRAZHI(MEDL)
el QIEE2E EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 20,000
Al 318,512
el 2| 276,314 293,636 A7,322
= 20,000
== 20,000
Al 236,314
elIg =3l 116,154 114,096 2,088
101 e124d| 116,154 114,096 2,058
01 &= 116,154 114,096 2,058
OAIZIRIRR4E
11,9502 x27 H*30Al 2+ 123 116,154
QIS AHI(HEFEIIAEAL 140,160 179,540 /39,380
= 20,000
Al 120,160
101 21A4H| 122,880 162,040 A\39,160
= 20,000
Al 102,880
03 SR (FIH )22 UHE 4 122,880 162,040 A39,160
ONEFEDIA AL 1 2H| 122,880
—Jl=s 1,810,000 x3& * 122 65,160
= 20,000
Al 45,160
—ZHIAHI 140,0002 <3+ 122 5,040
— 2= 230,000 x3E~ 128 8,280
—ABEx=S 160,000& x32* 123 5,760
—SEFOHI 1,150,000 «3E <22 6,900
—d2sgitits
100,000 =3+ 122 3,600
— X8+ 350,000 x3E 128 12,600
—d2se 1,800,000 34 5,400
—JtE2E 60,0002 7 * 122 5,040
— G2 &I 1,700,000& *3E 12 5,100
4 HASFESS 17,280 17,500 A220
M SRH(PINAHA) 22N 2RSS S 17,280 17,500 N220
OSRA(RIAHA)2Z2 R Iz Il
= 160,000,000 *10. 8% 17,280
SAIE KAl 28 Als2e] At 20,000 0 20,000
& 20,000
101 21A4H| 20,000 0 20,000
s 20,000
M ORINZZE2NSE S 20,000 0 20,000
OXNZAl 28 AtZ2te] AR AL 17,967
—Jl2= 95,4403 x 1 =147 14,030




SA A D
M HZYRAZHI(MEDL)
el i Eg| (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 14,030
—=54y 95, 44021 %1230 2,864
= 2,864
—IXRDRY &Y
95,4402 x 1 +6L 573
== 573
—E30 10,0002 »1&8 x50 500
= 500
O=Egg J228= 2,033
—=gld= 17,965,5202 4. 5% 809
= 809
—2IEE 17,965,520 2 %3.545% 637
= 637
-y 750,000 %12.95% 9%
= 98
—1IE2E 17,965,520 1.75% 315
< 315
—&HEE 17,965,520 0. 966% 174
== 174
Jl=23H| 82,198 44,686 37,512
Jl=23H] 82,198 44,686 37,512
201 fet=23y| 29,938 29,266 672
01 AtR2te|HI 29,938 29,266 672
2t=ZHl 23,890
—HEYR =& sHOgly EY ¥ &8
- 220,000 x 1201 *43] 10,560
—HEYR =& ZZeH EH ¥ &3
-8 430,000 «2CH*32] 2,580
—HEESR =& SAD| EH ¥
150,000 *62] 900
—HEYR =8 SAD| 28 7Y
370,000 »1CH 370
—M3gR =N SAISK 7Y 4,260
- M 25,0002 x102t A 123 3,000
-+ B5 21,0003 »58F Ax 123 1,260
—HEYSR =8 JZ2ARES 7Y
12,0003 »282~ 123 4,032
—NZEYR =& SIIFFI] 2 WA
110,000 »2CH*32] 660
—NEgR =N F)| HEAMSE
22,0003 20+ 122 528
OsAlH| 6,048
—NE JI=2gR=AE fIgt S2s4
9,000 x28ZH 22 x 12 6,048
202 04dl 47,040 10,080 36,960




2A:

AIE

Mz Y SAAH|(MAED)
oel: D23l (SH &)
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
01 2L Y| 47,040 10,080 36,960
OJ|22U=E&0dd]
140,000 x28&H x 128 47,040
203 YR =ZIH| 5,220 5,340 A 120
04 EASHH 2= 5,220 5,340 A120
OFNSY YR
435,000& x 128 5,220




